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BEMAEE NG GRBINAEBRER. (AR 12.6 AH/ A LR MA B MR (RIRINA R ERE R, REFRER 12. 6
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2 B A E L E R () 500 k VA 2 B A E L E R () 500 k VA
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J T B O [ FE(6) 36 m J8 AL TR i A (6) 36 i
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J& A B T AR (L 72 m J8 A P A (1) 72 i

F T B T R (L) 72 m J8 A T A (1Y) 72 i
F L BT R FE (L) 72 o JE A AT A (1) 2 m
F L T R (L) 72 o JE A AT A (1) 2 m
S L T T [ R (L) 108 ol JE T A T i A (1) 108 m
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S T T T B T R (L) 108 m J8 A T A (L) 108 m
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F L T T [ FE(LY) 108 o JE A T A9 108 m
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N B 1 5% 7= 0 OB (RT—BOX) 100 A IR ERER 1 B4 720 0o KER (RT—BOX) 100 A
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TR B M A (1) 1 k VA AT R R E S () 1 kVA
AR B A BLE A R(2) 2 k VA AR B AR BLE A R(2) 2 kVA
AR R B B BLE A R(3) 3 k VA AT HRT R B B BLE A &(3) 3 kVA
AR B AR B E A =) 4 k VA AR R B I AL E A ) 4 kVA
AR IS B AR R E A = (5) 5 k VA AR R B I AL A & (5) 5 kVA
AR B R A HE A R(6) 6 k VA AR I A R E A = (6) 6 kVA
AR R BT A BLE A &(7) 7 k VA AR R BT A BLE A &(7) 7 k VA
AR B EEA BLE A R(8) 8 k VA AIHRT R B EEA BLE A R(8) 8 k VA
AR R B A BLE A #(9) 9 k VA AT HRT R B AR BLE A #(9) 9 kVA
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AR Eh S TR R A a}k(él) 0 =) AR Eh S TR R A 4}51(4) 0 =)
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- B R SR EAR S (TREIR) 0. 8896 — - B R SR EAR S (TREIR) 0. 9089 —
|- b B P SR E AR (BT 0. 9036 — - G R SR E AR S (RO 0.9156 —
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- b H G B U IR AR R ) 0.8113 B R AR E AR SR (s L gR) 0. 8533
B R AR SR (IR 0. 8007 - b il e R R AR A (S R 0. 8480
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INAFE AR E R s 2 (e IR 304, 492, 346 M INAFE AR E R s 2 (8 IR 306, 970, 959 M
INAFE AR E N R e s 2y ORBUR) 324, 565, 580 M INAFE AR E N IR e s 2y OR9UR) 332, 935, 509 M
TN AZ WA T E I IR B e PR e e (AR L) 320, 801, 849 M JNNGE A AT T E I IR B e PR e (AR L) 328, 608, 084 M
INAFE A BNEAE I R B e 2y (R IR 307, 001, 501 M NAFE A BNEAE T R B e 2y (R IR 314, 183, 334 M
IMAFE A BNEAE I R B 2y (B R IR) 337, 111, 351 M IMAFE A BNEAE I R B 2y (B R IR) 344, 475, 309 M
IS AZ AT T E I IR B e PR ey (THEL) 350, 911, 699 M TGS AZ AT T E I IR B R PR ey (THEL) 358, 900, 060 M
TN AZ AT T I IR B e PR e e (HROCHR) 364, 712, 048 M TN AZ AT T I IR B e PR e e (HROCHR) 373, 324, 810 M
JNNGE AZ R T E I IR B e PRy (R ) 1| IR,) 342, 129, 660 M JNNGE A R T E I IR B R PRy (R ) 1] IR,) 348, 802, 734 M
SN A BNEAE I R B e 2 CEriE IR 298, 219, 461 M NN AR TE I IR A e PR e Gk bs) 306, 970, 959 M
MG ZZBAEAE I R e e 2 (& 1R 310, 765, 232 M SN ZZBNEAE I R s e 2 (& 1L R) 319, 953, 234 M
NN AS B i BB s 2 () 1] 1) 312, 019, 809 M IMAE A BN E I R s e 2 Ca)ITIR) 321, 395, 709 M
INAFE A BREAE R e a 2 (R IR) 310, 765, 232 M INAFE A BREAE R e a 2 (R IR) 324, 280, 659 M
TN AZ AT T E I IR B e PR e e (JUAL L) 345, 893, 391 M TN AZ AT B IR B e PR e e (JLAL L) 353, 130, 159 M
INAFE AR E N R s 2 (REPIR) 322, 056, 426 M INAFE AR E N R s 2 (REPIR) 330, 050, 559 M
TG A BAEATE I R B e P 2y (I B R 317,038, 117 M TN AR T E I R e PR e (e B L) 327, 165, 609 M
SN A BNEAE T R B a2y (i) JR) 329, 583, 888 M SN A BNEAE T R B e 2y (i) JR) 335, 820, 459 M
NG ZZBNEAE I R B e 2y (B IR) 324, 565, 580 M NN AR E I IR e PR e (B b) 334, 377, 984 M
INAFE AR E R s 2ty (ZEIR) 317,038, 117 M INAFE AR E N R s 2ty (ZEIR) 327, 165, 609 M
INAFE AR E I R s 2 QU R) 313,274, 386 M INAFE AR E R s 2 QU R) 327, 165, 609 M
MG ZZ BB I R B e 28 CRUERI) 320, 801, 849 M TN A RS E I R et PR 2 CRUaRI) 334, 377, 984 M
TN AR TE I R e PR 2 (KRBRF) 333, 347, 620 M TN AR T E I R e PR e (RBRAF) 347, 360, 259 M
SN A BNEAE T R B 2y (Jefe IR 317,038, 117 M SN A BNEAE T R B a2y (Jef IR 331, 493, 034 M
IMAFE AR E N R s 2y (REIR) 325, 820, 157 M IMAFE AR E N R s 2y (REIR) 340, 147, 884 M
TNAFE AZ AT I W R e Py (el b) 320, 801, 849 M JINAFE AZ AT I W R e P (e L bs) 334, 377, 984 M
INAFE A A E N R s k2 (SEUR) 291, 946, 575 M INAFE AR E N R s k2 (SEUR) 302, 643, 534 M
SMAFE A BNEAE I R B 2 (BRIR) 290, 691, 998 M NN AR E I R et R 2 (R I) 301, 201, 059 M
SN A BN E N R B e 2 ([ LR 304, 492, 346 M SN A AR E I R B 2y (LR 315, 625, 809 M
IMAFE A BN E I R B e 2 (A5 IR) 293, 201, 152 M IMAFE A BN E I R B 2 (A IR) 304, 086, 009 M
INAFE AR E N IR e s e (11 JR) 296, 964, 884 M INAFE AR E N IR s 2 (110 JR) 306, 970, 959 M
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TN AR T E I IR B e PR e e (TR I) 305, 746, 923 M TN A N T E I IR B e PR e e (TR I) 312, 740, 859 M
TG A AT T E I IR D s P e e () 111I) 299, 474, 038 M TG A AT T E I IR D s P e e () 111) 305, 528, 484 M
TN A AT T E I R D e P e e (B ) 299, 474, 038 M NN AR E I R R et PR e (R I) 305, 528, 484 M
NN A AT T E I IR e P e e (P Jn ) 299, 474, 038 M NN A AT T E I IR e P e e (P Jn L) 305, 528, 484 M
TN AZ AT T I IR B e PR e (] B 296, 964, 884 M TN AZ AT T IR B R PR e (] B 305, 528, 484 M
JNNGE A AT T E I IR B e PR e e (e BY) 298, 219, 461 M TN A AT E I IR R e PR e e (e BY) 306, 970, 959 M
TN A AT E I IR R e PR ey (RlR i) 286, 928, 267 M TN A AT E I R R e PR ey (RlR i) 295, 431, 159 M
TG A AT T E T IR D s P2 e (REARLR) 285, 673, 690 M NN AT E I R et PR e (REARIR) 293, 988, 684 M
NN A AT T E I IR D e PR e e (K7 1) 280, 655, 381 M NN AR E I IR et R 2 (R I) 289, 661, 259 M
IS AZ AT T E I IR B R PR e e (el L) 276, 891, 650 M IS AZ AT T E I IR B R PR ey (g L) 285, 333, 834 M
TS AZ AT T I IR B R PRy (I IR 280, 655, 381 M TS AZ AT T IR B i e Py (FE I IR 289, 661, 259 M
JINNGE AZ AT T E I IR B e PR e (PP L) 261, 836, 725 M TN AZ AT B I IR B e PR e (PP L) 272, 351, 559 M
FRHAS AR Bt e O 2 B R B B L 3R 0. 04748 — AT AR Bt e O 22 B R B R L 3R 0. 04795 —
R DGR 1 Jif 5 R A kB KR LR 0. 02527 — R DGR 1 Jif 5 R Ay kB KR LR 0. 02589 —
A BN —T NVHER 1 km 4720 fapefretr (bikE) 151, 345 M, km A BN —T NVHER 1 km 4720 fapefret (bikE) 166, 155 M,/ km
A BN —T NVIER 1 km 2472 0 figk R eE (H&RE) 143, 233 M, km A BN —T NVIER 1 km 472 0 figk R eE (H&RE) 153, 682 4, km
A BNV —T NVHER 1 km 472 0 faikfr ety CETIR) 148, 225 M, km A BNV —T NVHER 1 km 472 0 faikfr ety CETFIR) 157, 580 M, km
A BN —T VAER 1 km 272 0 gk R (i) 150, 721 M, km A BN —T VAER 1 km 272 0 gk R (i) 165, 376 4, km
A BNV —TVGER 1 km 2472 0 faaR gy (FKmIR) 145, 105 [,/ km A BNV —TVGER 1 km 2472 0 faaR a2y (RKmIR) 159, 139 M km
A BN —TVIER 1 km B 720 [k fret (LR 150, 721 M, km A BN —TVIER 1 km B 720 fagxfret (LR 165, 376 M km
A BN —T NVHER 1 km 4720 fape ety (R ER) 153, 218 M, km A BN —T VIER 1 km 472 0 figk R eE (GEEIR) 167, 714 M,/ km
A BN —T NVHER 1 km Y472 0 sk Rt (RBUR) 163, 202 M,/ km A BN —T NVHER 1 km Y472 0 sk Rt (RBUR) 181, 746 M, km
ALV —TNVIER 1 km H72 0 gk fr et (HiAR) 161, 330 M,/ km ALV —TNVAER 1 km B72 0 fakfr et (HiAR) 179, 407 M, km
AB NI —TNVHER 1 km %720 fape ety (REEIR) 154, 466 M. km A BN —T WIER 1 km 472 0 Mgk R et BEEIR) 171, 612 M,/ km
A AN —TVAER 1 km 2472 0 gk {E g (B EE) 169, 442 M, km A AN —TVIER 1 km 2472 0 gk {E g (B EE) 187, 983 M, km
AR N —T NVHER: 1 km 472 0 fpe ety (THEIR) 176, 306 M, km A BN —T )WIER 1 km 472 0 Mgk R eE (TIHER) 195, 778 M,/ km
A BN —T NVHER: 1 km 472 0 faad Rt CRAED) 183, 171 M,/ km A BN —T NVHER 1 km Y472 0 faad Rty CRAED) 203, 574 M, km
ALV —TNVAER 1 km H72 0 gk frety ()1 R) 171, 938 M,/ km ALV —TNVAER 1 km B 720 gk fret ()1 R) 190, 321 M, km
A BN —T NVHER 1 km Y472 0 ik R a2 CoEiR) 150, 097 M, km A BNV —T NVHER 1 km Y472 0 ik Rt CoEiR) 167, 714 M, km
AB NI —TNVHER 1 km %720 fapefret (FILIR) 156, 338 M. km A BN —T VIER 1 km 472 0 gk e et (& LIR) 174, 730 M,/ km
A BN —T NVHER 1 km 4720 fape et (A)IR) 156, 962 [,/ km A BN —T NVHER: 1 km 4720 fape ety (a)IR) 175, 510 M km
A BN —T NVHER: 1 km 472 0 S ety (EIHIR) 156, 338 M, km A BN —T VIER 1 km 472 0 Mgk R et GEHIR) 177, 069 M,/ km
A BNV —T NVGER 1 km 472 0 faad Rty (1LFLR) 173, 810 M,/ km A BN —T NVHER 1 km 472 0 faad ety (1LFLR) 192, 660 M, km
A BN —T VHER 1 km 472 0 faikfr ety (BEIR) 161, 954 M, km A BNV —T VHER 1 km 472 0 ik Rty (REIR) 180, 187 M, km
A BN —T NVHER 1 km Y472 0 ek Rty (R IR) 159, 458 M, km A BNV —T NVHER 1 km 2472 0 faad Rty (R IR) 178, 628 M, km
AB NI —TNVHER: 1 km 4720 S et (5 IR) 165, 698 M. km A BN —T )WIER 1 km 27 0 gk et (Fr L) 183, 305 M,/ km
A BN —T VAER 1 km 472 0 fage R 22 (R 163, 202 M, km A BN —T VHER 1 km 472 0 g R 22y (R 182, 526 M, km
A BNV —T NVGER 1 km 472 0 sk fr ety (Z&EIR) 159, 458 M,/ km A BNV —T NVGER 1 km 472 0 ik fr ety (Z&EIR) 178, 628 M, km
A BN —TNVHER 1 km 472 0 ek Rty (B IR) 157, 586 M,/ km A BN —T NVGER 1 km 472 0 ek Rty (B IR) 178, 628 M, km
ALV —TNVAER 1 km H72 0 fakfr et GLUET) 161, 330 M, km A BNV —T VHER 1 km Y472 0 ik fr et (UER) 182, 526 M, km
A BN —TVIER 1 km B 720 [k fret ORIA) 167, 570 M, km A BN —TVAER 1 km B 720 [k fret ORIA) 189, 542 M km
AR NI —TNVHER: 1 km 472 0 S ety (JofElR) 159, 458 M. km A BN —T )WIER 1 km 47 0 figkfr et (LEIR) 180, 967 M,/ km
A BN —T NVHER 1 km %720 fapkfr et (REIR) 163, 826 M, km A BN —T WIER 1 km 472 0 figk R et (BRI 185, 644 M,/ km
ALV —TVAERE 1 km H72 0 gk fret (Fnakil &) 161, 330 M,/ km ALV —TVAERE 1 km H72 0 ket (Fnakil &) 182, 526 M, km
A BNV —T NVHER 1 km Y472 0 sk ety (SEUR) 146, 977 M, km A BNV —T VHER 1 km Y472 0 sk et (SEUR) 165, 376 M, km
A BN —T VHER 1 km Y472 0 ik Rty (BRI 146, 353 M, km AB N —T VHER 1 km Y472 0 ik fr et (BRI 164, 596 M, km
A BN —T NVHER 1 km 4720 S fraegy ([0 IR) 153, 218 M. km A BN —T VIER 1 km 272 0 gk e (i LIR) 172, 392 M,/ km
A BN —T NVIER 1 km B 720 [k fret (LR 147, 601 M, km A BN —T VIER 1 km 472 0 faik R 22 (AR 166, 155 M, km
A BN —T VIER 1 km B 720 e fret (L) 149, 473 M, km A BN —T VHER 1 km 472 0 g et (L0 R 167, 714 M, km
A BN —T NVHER 1 km 472 0 sk Rty (FESIR) 153, 842 M,/ km A BN —T NVHER 1 km 472 0 ek Rty (FESIR) 170, 832 M, km
A BN —TNVIERE 1 km B 720 fEi (a2 (FIE) 150, 721 M, km A BT —TVEER 1 km 472 0 ka2t (&) 166, 935 M, km
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A BN —T NVHER 1 km 472 0 faak Rty (BRI 150, 721 M, km A BN —T VHER 1 km Y472 0 ek Rty (BRI 166, 935 M, km
A BN —T )VIER 1 km 472 0 Mgk R e® (mEni) 150, 721 M km A BN —T )VIER 1 km 472 0 Mgk R e (mni) 166, 935 M,/ km
A BN —T WIER 1 km 272 0 Mgk R et (@) 149, 473 M, km A BN —T WIER 1 km 272 0 Mgk Rt (@) 166, 935 M,/ km
A BN —T NVHER: 1 km 472 0 fpe ety (R IR) 150, 097 M, km A BNV —TVGER 1 km 472 0 faak ety (BB IR) 167, 714 M km
A BN —T NVHER 1 km 472 0 ik Rt (RIFIR) 144, 481 M,/ km A BN —T NVGER 1 km 472 0 ik Rt (RIFR) 161, 478 M, km
A BNV —T NVHER 1 km Y472 0 ik Rty (FEAIR) 143, 857 M, km A BNV —T NVHER 1 km Y472 0 ek fr et (FEAIR) 160, 698 M, km
A BNV —T VHER 1 km Y472 0 ek Rt (R IR) 141, 361 M, km A BN —T VHER 1 km Y472 0 ek Rt (R IR) 158, 360 M, km
A BN —T )VIER 1 km 472 0 Mgk R e (EIRIR) 139, 489 M. km A BN —T )VIER 1 km 47 0 Mgk R e (EIRIR) 156, 021 M,/ km
A BN —T NVAER 1 km 2472 0 faakfraty (VR R) 141, 361 M, km A BN —T VAER 1 km 2472 0 fagkfr ety (VR R) 158, 360 M,/ km
A BN —T NVHER 1 km Y472 0 faad Rt (FhiIR) 132, 001 M,/ km A BN —T NVGER 1 km Y472 0 faad R (FhiIR) 149, 005 M, km
A BN —T VAIIAE B Y 72 0 faak R g 273 M a5 A BN —T VIIAE B Y 72 0 faak R g 281 M/ a5
AR — 7 VAR 1 km 2472 0 k{2 (biEE) 31, 061 9, km AR — 7 NAER 1 km 2472 0 ik (bis) 33, 541 M, km
IMARN — T NVIER 1 km 7= 0 fa a8 (FHRE) 29, 396 M. km IMARN — T NVIER 1 km Y470 fas a8 (FHRE) 31, 024 M km
AR — T NVIER 1 km 7= 0 fas a8 CaEFIR) 30, 420 M, km AR — 7 NAER 1 km 2472 0 gk 2 CHFR) 31, 810 M km
IMARN — T NVIER 1 km 472 0 faa a2 (EuR) 30, 933 M, km IMAZRIEr — 7 NAER 1 km 2472 0 sk (EuR) 33, 384 M km
IMARN T — T NVIER 1 km %70 faa a2 (R IR) 29, 780 M,/ km IMARN 7 — T NVIER 1 km %70 faa a2 (R IR) 32,125 M, km
AR — 7 VAR 1 km 2472 0 sk e (ILEE) 30, 933 M,/ km MRS — T VAR 1 km 2472 0 sk fee® (ILEE) 33, 384 M, km
AR — 7 VAR 1 km 2472 0 gk 2 (&5 31, 445 9, km IMAZRIEr — 7 NAER 1 km 472 0 gk (& & R) 33, 856 M km
IMARN A — T NVIER 1 km 2472 0 faa a2 (RUR) 33, 494 M, km IMAZRIEA 7 — 7 NAER 1 km 2472 0 g2 (RIR) 36, 689 M km
IMAGRN A — T NVIER 1 km 247 0 faa a2 (iAR) 33,110 M, km IMAZRIE 7 — 7 NAER 1 km 2472 0 gk 28 (WiAR) 36, 217 M km
IMARNA — T NVIER 1 km 472 0 faa g (REEIR) 31, 701 M, km IMAZRIE T — 7 NAER 1 km 472 0 g2 (BB IR) 34, 643 M km
IMARN 7 —T7 NVIER 1 km %720 faak g (BFER) 34, 775 M, km IMARN 7 — T NVIER 1 km %70 faakfeeg (BFER) 37, 948 M, km
IMARNr — T NVIER 1 km %70 faa g (FHER) 36, 184 M, km IMARN T — T NVIER 1 km Y70 faakfrag (FHER) 39, 521 M, km
IMAGRN A — T NWVIER 1 km 247 0 faa a2 CGRALHED) 37, 592 M. km IMAGRN A — 7 NVIER 1 km 7= 0 faa a2 CGRALHED) 41, 095 M km
MAFRNA —T NVIER 1 km 47~ 0 SR (431 1E) 35, 287 M, km MARNr —T NWVIER 1 km 4720 gk fr 28 (A1) 38, 420 M km
IMAGRN A — T NWVIER 1 km 47 0 faa a2 CoisiR) 30, 805 M, km IMAZRIE 7 — 7 NAER 1 km 2472 0 gk {2 CGIs ) 33, 856 M km
AR — T VEER 1 km 2472 0 sk e e (FIUE) 32, 085 M, km MRS — T VEER 1 km 2472 0 sk e et (FIUE) 35, 272 M,/ km
AR — T NVIER 1 km %70 faa a2 CalllR) 32,213 M, km IMARN A —T7 NVIER 1 km %70 faafeag CalllR) 35, 430 M, km
IMARN A — T NVIER 1 km %70 faak g (FEIHFIR) 32, 085 M, km IMARNr — T NVIER 1 km %70 faak g (FEIHFIR) 35, 745 M, km
IMAGRN 7 — T NVIER 1 km 7= 0 faa a2 ((LBLR) 35, 671 M, km IMAZRIEr — 7 NAER 1 km 2472 0 gk (LIELR) 38, 892 M km
IMARN — T NVIER 1 km 470 faa a8 (REIR) 33, 238 M, km IMAZRIE T — 7 NVAER 1 km 2472 0 gk (RER) 36, 374 M km
IMAGRN A — T NVIER 1 km 247 0 faa e (%) 32, 726 M, km AR — 7 NAER 1 km 2472 0 ik (5 R IR) 36, 059 M km
MRS — T VAER 1 km 2472 0 faafhety (i) 34, 006 M, km MRS — T VAER 1 km 2472 0 faafhety (i) 37, 004 M, km
IMARN A —T NVIER 1 km 7= 0 faa g (k) 33, 494 M, km IMARN A —T NVIER 1 km Y70 faa g (k) 36, 846 M,/ km
AR — 7 VAR 1 km 2472 0 gk 2 (ZFEIR) 32, 726 M km IMARIEr — 7 NVAER 1 km 2472 0 ik 2 (ZFEIR) 36, 059 4, km
IMARN — T NVIER 1 km 2472 0 faa ey (R IR 32, 342 M, km IMAZRIE 7 — 7 NAER 1 km 2472 0 g2 (B R) 36, 059 M km
IMARN 7 — T NVIER 1 km 247 0 faa a2 G 33,110 M, km IMARN A — T NVIER 1 km 7= 0 [t 2 G T) 36, 846 M km
AR — 7 VAR 1 km 2472 0 ik {28 (CKRIR) 34, 391 M km AR — 7 NVAER 1 km 2472 0 gk 28 (CKRIR) 38, 262 M, km
AR — 7 VAR 1 km 2472 0 ik {2 (JeEIR) 32, 726 M km AR — 7 NAER 1 km 2472 0 ik {2 (JeE ) 36, 531 M, km
AR — 7 VAR 1 km 472 0 ik 28 (KRIR) 33, 622 M km IMARIEr — 7 VAR 1 km 472 0 ik {28 (RRIF) 37,476 4, km
IMARNA 7 —T NVIER 1 km 4729 S22 (Fodkl i) 33,110 M, km MARNr —T WVIER 1 km Y4720 skt Fnkil ) 36, 846 M km
IMARN A — T NVIER 1 km 7= 0 fas a2 (BEUR) 30, 164 M, km IMAZRIEr — 7 NVAER 1 km 2472 0 sk 2 (BEUR) 33, 384 M km
IMARN — T NVIER 1 km 47 0 faa g (BRIER) 30, 036 M, km IMAZRIE 7 — 7 NAER 1 km 2472 0 gk (BRIE) 33, 227 M km
AR — 7 VAR 1 km 2472 0 2 ([ IR) 31, 445 M km AR — 7 Ve 1 km 2472 0 it () IR) 34, 800 M, km
IMARN A —T NVIER 1 km %70 faae g (L I5R) 30, 292 M, km IMARN A —T NVIER 1 km Y70 faa g (L 5I5R) 33, 541 M, km
IMARN A — T NVIER 1 km %70 faa a2 (100 IR) 30, 677 M, km IMARN 7 — T NVIER 1 km %70 faa a2y (100 IR) 33, 856 M, km
IMARIr — T NAER 1 km 472 0 gk 2t (EER) 31,573 M, km IMAZRIE T — 7 NAER 1 km 2472 0 gk ef (fHER) 34, 486 M, km
MARA — 7 NVIEE 1 km % 7- 0 fEE ety (&R 30, 933 M, km IMAZRIE 7 — 7 NAER 1 km 2472 0 gk (F)IR) 33, 699 M km
IMARN — T NVIER 1 km 472 0 faa gy (EhEIR) 30, 933 M, km IMAZRIE 7 — 7 NAER 1 km 2472 0 gk {2 (EiER) 33, 699 M km
AR — 7 VAR 1 km 2472 0 gk 2 (5B IR) 30, 933 M km AR — 7 VAR 1 km 2472 0 ik 2 (G IR) 33, 699 M, km
IMARNr — T NVIER 1 km Y70 faa a2 (& IR) 30, 677 M, km IMARNr — T NVIER 1 km %7 0 faa a2 (& IR) 33, 699 M, km
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